1.

o 199 ¥ OollA Zol7t 7H

ONQ®)

@ ©

A&7

@
Q0 ©
©
®
®
® © (ONC)

® O



2. t5 1"9 90 oA LAOB = «COD ¢ o, A D

o 84 g ALY

@® AB=CD ‘
- P
@ 5.0ptAB = 5.0ptCD B ¢

O ~
® 5.0ptAD = 5.0ptBC

@ (FAZE AOB 2 Hol)=(FA& coD 9
wol)

3 AAOB = ACOD



VN VRN VY
3. & 189 YU 0 oA 5.0ptAB : 5.0ptBC : 5.0ptCA =2:3:4 7}
HEE H AB,CE S M, /AOB 9] 27]|& oo,

A



W15 2] Zol7h Tem 91 9] Edo] Aolst 19| HolE Tateler,

= cm



o 1304 AB//CD ol 1 5. 0ptCD = 1dem, ZCOD —
15

o, 5. OptAC +5. OptBD o] do]& Ftotofzt.

/_14crn\

7z ~
e N

< 140" \yvp

[~ )
A = B

140° 4



6. th Lol CF &= € 0 o] A5l AF //BE//TD 4 o, o
% (BOC 9] 2719} g& sht=?

C S F
E

D




ohe J8at o] ¥ 0O oA LAOB = «COD = 50°, AB = 8&m
UH ,

® 10cm

o]
=



mlo

thS I A LAOB = 20°, /COD = 80° &
f

O 522 A8
1 -
@AB:ZCD @ AC=BD
VR 1 ) N S
® 5.0ptAB = Z5.0ptCD @ 5.0ptAC = 5.0ptBD

® AABO = EACOD



oh- 193 22 BAE AOB 9] Hol7} sem?
A, 90 2 Holx?

D 6lem? @ 62cm? ® 63cm?
@ 64cm?2 B 65cm?2

[ANG)



o]7} 60cm Q1 A4FZH o

22 o] ol

10.

k=)
o
_°,_|',

=

A

I
3T
.—“~

4o 1

o

R

T
A
- =

@® 527 + 1260(cm?) @ 521 + 1440(cm?)
® 56m + 1440(cm?) @ 647 + 1260(cm?)

® 647 + 1440(cm?)



a1, 3.9] Zo]7t 12zem 1 FAHEQ] Hol=

@ 216mcm? @ 144mcm?

B 4327cm?

r)



12. o JFoA H 0 & 99 ZAloltt. /AOB = /BOC = /COD =
(DOE ¢ o, $#] &4 727

@ 5.0ptAB = 5.0ptBC = 5.0ptCD = 5.0ptDE

® AB=BC=CD =DE

® 2BC =BD

@ HAE AOE 9] Hlol= HA& AOB 9] ylo]9] 4 vjo|r}

VY N\
® 25.0ptAB = 5.0ptCE



13. ohS 793} 2o] AZFY ABCD o A AR HE o] Yolx)

A D
/
1
1
1
4cm
‘\
\
\
B~ T

“~4cm- -

@® (87— 8)cm? @ (87 -16)cm? ® (167 —8)cm?
@ (167 -16)cm?  ® (327 - 8)cm?



14. t5 I2-A At T2 =] dol=?

L]

~-10cm-~

® 107 cm @ (107 +5) cm ® (107 +10) cm

@ (10r+15)ecm  ® (107 + 20) cm



- -10cm- -

e

o gol?

@ (100 - 507) cm?

@® (50 - 1007) cm?

@ (100 - 257) cm?

® (50 — 257) cm?

® (25 -1007) cm?



cm?



O
]

17. o

~5cm---

@ 6cm? ® 8cm?

@ 4cm?

® 12cm?

@ 10 cm?



7t ABC & A B 71 G

ik

B~10em-TC

cm



19. ohg T36l4 A7 ABCD & ¥ BC 7} 441 1 919 £ 9
AB = 6cm , AD = 8cm , AC = 10cm ©|t}. o] ZAZFE-S A |
met @ 250 2 g 2N S ol H A 7 =A%) Ag=?

o K

a = cm



20. FAZe 27178 80° o)L, o] Zo|7} 16xem )1 FAIE 2] WolE

e

@ 1227cm? @ 178rmcm? @ 2007cm?

@ 220mcm? B 288mcm?



